Wood Beam calculation

Using Southern Pine No. 2 , therefore properties common to all Southern Pine G:=0.55
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Use for Joist application
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Table 3.3.3 for uniform load

This value is related to top and bottom

flange buckling, not overall member/col type
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Based on Live Load Combination Loading
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Based on Snow Combination Loading
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Base on Wind Combinations
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Actual Deflection and Ratio Checks
Based on Foor or Roof Live Loads only
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Based on Snow or Wind Loads only
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A, i=———— — =0.4732 in Ratio:=—— =405.7743
sw I-E'-384 A

Sw

Total Deflection Based on outdoor deck use with snow and wind

1bf
SWmaX ::max[[ W5 W6 ]:74.5 ?
4
5'SWmax'Lb Lb
A i=———— = 0.8813in Ratio:=—— =1405.7743
TOT I'E'~384 A

SwW

For better floor performance and for seasoned wood used indoors:
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Creep - Deflection including creep
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Ratio of deflection from D+L to be less than L/360 (not 240)
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(2.0 for wet service conditions) --Ref NDS Specifications 3.5 Bending Members
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